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QUESTION 1

Which of the following is amongst the five marketing actions an organisation should take when greening 

their brand? 

a) Be accountable. 

b) Be transparent. 

c) Be credible. 

d) Be an enabler. 

A. a and d only. 

B. a and b only. 

C. b, c and d only. 

D. a, b, c and d. 

Correct Answer: D 

 

QUESTION 2

How much energy is used by monitor when displaying a PC screen saver? 

A. The same as a standard office application. 

B. Half the power of a standard office application. 

C. One third the power of a standard office application. 

D. Twice the power of a standard office application. 

Correct Answer: A 

 

QUESTION 3

What is an Emission Reduction Unit? 

A. A measure of carbon dioxide equivalent. 

B. A device attached to a power supply. 

C. A token used to reward staff for energy savings. 

D. An energy management server. 

Correct Answer: A 

Latest EX0-118 Dumps | EX0-118 Study Guide | EX0-118 Braindumps                                2 / 7

https://www.passapply.com/ex0-118.html
https://www.passapply.com/ex0-118.html
https://www.passapply.com/ex0-118.html


https://www.passapply.com/ex0-118.html
2024 Latest passapply EX0-118 PDF and VCE dumps Download

 

QUESTION 4

Which of the following will reduce paper consumption? 

A. Setting printers to duplex printing. 

B. Setting printers to colour printing. 

C. Setting printers to high quality printing. 

D. Setting printers to draft printing. 

Correct Answer: A 

 

QUESTION 5

How can adopting Green IT principles benefit an organisation\\'s reputation? 

A. It demonstrates the organisation\\'s competitiveness to government. 

B. It demonstrates the organisation\\'s aspirations to customers. 

C. It demonstrates the organisation\\'s buying needs to suppliers. 

D. It demonstrates the organisation\\'s commitment to charity. 

Correct Answer: B 

 

QUESTION 6

Which of the following is a benefit of adopting green IT within an organisation? 

A. Creating a culture of team-based working. 

B. Promoting a culture of maximum productivity. 

C. Establishing a culture of total innovation. 

D. Developing a culture of social responsibility. 

Correct Answer: D 

 

QUESTION 7

Which of the following can form part of a definition of Green IT? 

a.

 Reducing the carbon footprint of IT operations. 
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b.

 Using IT operations to offset emissions elsewhere. 

c.

 Ensuring the sustainability of resources used by IT. 

d.

 Using IT to reduce an organisation carbon footprint. 

A. 

a, b and c. 

B. 

a, c and d. 

C. 

b and c. 

D. 

b, c and d. 

Correct Answer: B 

 

QUESTION 8

Which of the following are reasons that Home Working can reduce your carbon footprint? 

a) It reduces the travel needed to attend meetings. 

b) It reduces the paperwork needed for meetings. 

c) It reduces the space needed within the office. 

d) It reduces the power consumed during meetings. 

A. A. b and c only. 

B. a and d only. 

C. a and c only. 

D. c and d only. 

Correct Answer: B 

 

QUESTION 9
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What is the role of a Stakeholder Map in a Green IT programme? 

A. It provides performance measurement of key stakeholders. 

B. It highlights the responsibilities of each stakeholder. 

C. It identifies where the roles of stakeholders overlap. 

D. It identifies where stakeholders will influence the programme. 

Correct Answer: D 

 

QUESTION 10

What is the best slogan for a Green IT strategy? 

A. Plan, Prepare, Proceed. 

B. Reduce, Reuse, Recycle. 

C. Less servers, Less paper, Less PCs. 

D. People, Product, Premises. 

Correct Answer: B 

 

QUESTION 11

You are greening your data centre. Which of the following is an initiative that should complement your project? 

A. The Product Design Strategy. 

B. The Sustainable Building Strategy. 

C. The New Building Strategy. 

D. The Carbon Offsetting Strategy. 

Correct Answer: B 

 

QUESTION 12

What is the first step that an organisation should take to improve its Green IT credentials? 

A. Rationalise its Data Centre. 

B. Review competitors\\' green policies. 

C. Establish its Green IT policy. 

D. Replace its old PCs. 
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Correct Answer: C 

 

QUESTION 13

Which document should be created to ensure the implementation of your Green IT policy? 

A. The green development plan. 

B. The green procurement policy. 

C. The green IT action plan. 

D. The green building plan. 

Correct Answer: C 

 

QUESTION 14

Which of the following BEST describes the function of a Cost Benefit Analysis? 

A. Weighing skills against budgets to prioritise the order of projects. 

B. Weighing costs against benefits to determine the best course of action. 

C. Weighing benefits against timescales to determine quick wins. 

D. Weighing costs against benefits to secure senior management buy-in. 

Correct Answer: B 

 

QUESTION 15

Which of the following are steps you can take to help justify a green IT programme? 

a.Highlight current costs. 

b.Investigate available skilled labour. 

c.Identify legislative dangers. 

d.Demonstrate cultural resistance. 

A. b, c and d. 

B. b and d. 

C. a and c. 

D. a, b and d. 

Correct Answer: C 
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